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10p + 10P + 10p +10p =



Half of 22cm = 

 
3 x 5 = 

double 8 = 

4 + 4 + 4 + 4 + 4 =

3 x 9kg = 

three twos =                     threes

18 ÷ 3 = 

4 x                       =  32

3 x 3 x 3 = 

     
                  x 4 = 16

Divide 60 by 5
 
What are 9 groups of 3 

 
How many millimetres are

there in 1 cm? 

There are 4 halves, how many

whole ones is that? 

How many threes are there in

thirty-six?

Write the numbers which

divides exactly into 18 (these

are called factors of 18). 

How much greater is (3 x 5)

than (2 x 5)?                     

How many 5p coins are worth

20p? 

1-5, 10 - Times Table Mastery
1

Lilly bought 3 presents for£9 each. How much didshe spend?

What is the difference
between      of 10 and 5 x 2?

Four biscuits cost 20p. How

much does 3 cost?

What is the perimeter of thissquare?

3cm
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ANSWERS
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1,  2,  3 ,  6 ,  9,  18
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12 cm


